949 0—=IbIU—X
A= LT (AT UL A{LHR)

JURAFvh

@3IVYAX (JIV—T4)

P e hie
BOE HE yax L e ugE
(mm) (M) (mm) (mm) (g)
Y N6-S 6 M10X1.0 9.0 12.0 5.0
75
/bi & N8-S 8 M12X1.0 9.0 14.0 6.0
\ ‘7 N10-S 10 M15X1.0 10.0 17.0 9.0
N12-S 12 M17X1.0 11.0 19.0 11.0
@1 FHALX(FI—T71)
A T H2
H2 o Fa-7 Bl —im
®F e H42 . =E HE
(inch) (m) (mm) (mm) (@)
N1/4-S 1/4 M10X1.0 9.0 12,0 5.0
T/ N5/16-S 5/16 M12X1.0 9.0 14.0 6.0
N3/8-S 3/8 M14X1.0 10.0 17.0 10.0
N1/2-S 1/2 M17X1.0 11.5 19.0 11.0
AL FHARITBRB BIEL A
F/OVAU—
@IHIX (&:FLAE) Q1 FH1X (B8
p:li] bz |
5 & -7-;;{;7 L a5 Fa=7 L
(mm) (mm) (inch) (mm)
- SN6 6 11.0 SN1/4 1/4 11.0
SN8 8 11.0 SN5/16 5/16 11.0
SN10 10 12,0 SN3/8 3/8 12.0
SN12 12 13.0 SN1/2 1/2 13.0

@:

L

93



